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QUESTION 1

Which ALTER TABLE statements will put a table named TABL1 in "reorg-pending” state? (Choose two.)
A. ALTER TABLE tabl APPEND ON

B. ALTER TABLE tabl DROP COLUMN coll

C. ALTER TABLE tabl ALTER COLUMN coll SET NOT NULL

D. ALTER TABLE tabl DETACH PARTITION partl INTO tab_partl

E. ALTER TABLE tabl ADD CONSTRAINT pk_tabl PRIMARY KEY (coll)

Correct Answer: BC

QUESTION 2

Which of the following are valid Explain operators? (Choose two.)
A.CTQ

B. XSCAN

C. IXSCAN

D. SELECT

E. COLSCAN

Correct Answer: BC

QUESTION 3

Given the following: What will be the result of the following SQL statement?

CREATE TABLE 11 {col1 INTEGER NOT MULL);
CREATE VIEW v1 AS SELECT col1 FROM 11 WHERE col1 = 10;
CREATE VIEW v2 AS SELECT col1 FROM v1 WHERE coli = 40
WITH CHECK OPTION;
CREATE VIEW v3 AS SELECT col1 FROM v2 WHERE coll = 50;
INSERT INTO v3 (coll) values (30);

A. The insert will succeed as it passes validation.

B. The insert will succeed as there is no WITH CHECK OPTION on view V3.
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C. The insert will result in an error as it violates the WITH CHECK OPTION on view V2.
D. The insert will succeed as the default WITH CHECK OPTION is LOCAL on view V2.

Correct Answer: C

QUESTION 4

What levels of authority are needed to create a storage group? (Choose two.)
A. DBADM

B. SYSADM

C. SQLADM

D. SYSCTRL

E. SYSMAINT

Correct Answer: BD

QUESTION 5

Which statement about the DB2_BCKP_COMPRESSION registry variable is TRUE?

A. It does not apply to table space backups.

B. It specifies the compression mode to use for DB2 backups.

C. It only has effect when appliedto a database in which all tables have been compressed.
D. If set, backup images created with the BACKUP command are automatically compressed.

Correct Answer: D
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